- 3R 4 MR EEE ¥ ¥
2011/05/20

ERHRFRES S

Question: Consider a 5-month Euro. Call option on a non-dividend-paying stock when the stock
price is $50 ,the strike price is$ 50,the risk-free interest rate is 10% per annum, and the volatility is
40% per annum. With our usual notation, this means that S0=50, K=50, r=0.10, ¢ = 0.40,
T=0.4167, and g=0. Suppose that we divide the life of the option into 100 intervals .
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Flot = 7 A B-S model 3+ 5 40wt BB REA S
(6.1038-6.1151)/ 6.1151=-0.0018 (-0.18%)
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B 14 1% 1 Matlab & * = 38 3+ & J ehgi R i 5 6.3638 ~
@ 1% B-S model 3+ & ) et B s 6.1151 ~
Flot = 7 e B-S model 3+ 5 0wt BB REA S
(6.3638-6.1151)/ 6.1151=0.0407 (4.07%)
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Stock price simulation-antithetic
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® Control variate method*
BUBERECLF A ARAM 2 B AL RfRAT - 5L BF G MGk o0 b F
P BHCHE T A BT P s HRGoiEeh T AR A RIFGHRB I EG -
pECihm I EC A -
C* =GBS+(C_G)
PRECTHE B S
Var(C*) = Var(C) + Var(G) — 2Cov(C > G)
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4 Boyle, P. P. (1976). Options: a monte carlo approach. Journal of Financial Economics, 4, 323-332.
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Stock price simulation-contral variate
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B {25 16 Matlab & * % # + B-simple 3-8 1 g s | W £ 5 5.9974 ~
@ 41 % B-S model ?;‘Ej DRyt §ER R s 6.1151 ~
95% 1 ¥ % ¥ 5 [5.8974 6.1000]

B % + Re-simple f= B-S model 3+ % 4 0wt BB REA G
(5.9974-6.1151)/ 6.1151= -0.0192 (1.92%)
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B {4 % 1 Matlab & * % # + %- antithetic 3- & /1 9% B 8§ # 5 6.1031 ~
@ 4% B-Smodel 3* & g B R KL 6.1151 ~

95%1 #F % ¥ % [6.0031 6.2031]

F]et % # + R-antithetic f= B-S model 3+ & 41 engcst B B R EL G
(6.1031-6.1151)/ 6.1151=0.0020 (0.2%)
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@ 4] * B-S model 3+ & :".m ARG RS 61151 &
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Flr BN VLA T RER B R
Time to maturity

S 5 4.5 4 3.5 3 2.5 2 1.5 1 0.5 0

100 50 50 50 50 50 50 50 50 50 50 50

95 4558 4554 4550 45.46 45.42 45.37 45.32 4527 4520 45.12 45.00
90 41.05 40.97 40.89 40.81 40.73 40.64 40.54 40.43 40.31 40.17 40.00
85 36.43 36.31 36.19 36.07 35.95 35.82 35.68 35.53 35.37 35.19 35.00
80 31.75 31.59 31.43 31.27 31.10 30.94 30.76 30.58 30.40 30.20 30.00
75 27.03 26.84 26.64 26.43 26.23 26.03 25.82 25.62 25.41 25.21 25.00
70 2235 2210 21.86 21.62 21.37 21.13 20.89 20.66 20.43 20.21 20.00
65 17.76 17.47 17.18 16.88 16.59 16.29 16.01 15.73 15.47 15.22 15.00
60 13.38 13.04 12.70 12.35 12.00 11.63 11.27 10.91 10.57 10.26 10.00
55 937 900 862 823 781 737 691 642 592 543 5.00
50 594 558 519 479 435 388 336 277 207 119 0.00
45 330 299 267 234 200 165 129 092 056 0.23 0.00
40 155 134 113 093 074 055 038 024 0.12 0.04 0.00
35 059 048 038 029 021 014 0.09 0.05 0.02 o0.01 0.00
30 017 013 0.10 0.07 0.05 0.03 0.02 0.01 0.00 o0.00 0.00
25 004 003 002 001 001 0.00 0.00 0.00 0.00 0.00 0.00
20 001 000 000 0.00 000 0.00 000 0.00 0.00 o0.00 0.00
15 0.00 0.00 0.00 000 000 000 000 000 0.00 0.00 0.00
10 0.00 0.00 0.00 0.00 000 000 000 000 0.00 0.00 0.00
5 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
0 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 ©0.00
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Method Call Price £1B-S Pricesiize 4
B-S model 6.1151 0%
Z A 6.1038 0.18%
= JE At 6.3638 4.07%
Fp 4 B A 5.9974 1.92%
% ¥ + R-antithetic 6.1031 0.20%
% ¥ + R-control 6.2351 1.96%
N A 5.9407 2.85%
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FEEEE YD N Matlab 2545

BS-model

n=100; %317 100step
S=50; %IRTERE R 50

K=50; WEFERBENEES 50
r=0.1; %FMNER 10%

T=5/12;, %EE#EEHINEAAES @R
vol=04;  %RENERE 40%
dt=T/n;  %EE step PIBLRERE

%B-S MODEL [Call, Put] = blsprice(Price, Strike, Rate, Time, Volatility)
[Call, Put] = blkprice(S, K, r, T, vol);

bs_call=Call;

fprintf(FA B-S model st B LA EREBIZS %4.41\n'bs_call)

= A

clear;clc

%R ESE

n=100; % 1T 100step
S=50; %IRERES 50

K=50; WIEZEEBNERES S0
r=0.1; %ENES 10%

T=5/12;, %EIZEH#EREISAESER
vol=0.4; %R ENESR 40%
dt=T/n; %2 E step Fi T A& FERF E

%181 [AssetPrice, OptionValue] = binprice(Price, Strike, Rate, Time, %Increment,Volatility, Flag)
%Flag: put=0 call=1

[Price, Option] = binprice(S, K, r, T, dt, vol, 1);

bin_call=Option(1,1);

fprintf(RIA_IERIEtE LM E#EBR S %4.41\n' bin_call)
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= A

clear;clc

n=100; %3 # 1T 100step

S=50; %IRTERIER 50

K=50; WEERBNERES 50
r=0.1; WENES 10%

T=5/12;  %EIZEH#IBPEERIHAE 5 @A
vol=0.4; %KEIERS 40%

dt=T/n;  %EE step PIBLRERE

u = exp(vol*sqrt(3*dt));

d=1/y;
pd=-sqrt(dt/(12*vol*2))*(r-0.5*vol A 2)+1/6;
pm=2/3;
pu=sqrt(dt/(12*vol*2))*(r-0.5*vol " 2)+1/6;
pr=[pu;pm;pd];

SS=zeros(2*n+1,n+1);

XX=zeros(n*2+1,1);
XX(n+1,1)=S;
SS(,1)=XX;

%at BELZHANRE SS B &

fori=Ln
uu=S*u’i;
dd=S*d*j;
XX([(n+1)-i,(n+1)+i],1)=[uu,dd];
SS(,i+1)=XX;

end

%t BEREZIHB TS EER#EEE call_100
call_100=SS(,n+1)-K;
for i=1:size(call_100)
if call_100(i,1)<0;
call_100(i,1)=0;
end

end

- 284 I3e mAm K

% IRZRAY R I

% R RBYER IR

%R B L RAIH =R

W IRIBAZRIER

% IRME N ERAIEZR
WiFEEER R

Yoi R B AR B A ZERE fE o
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itEmE—IEFEEERTRAIRE - RESE AR EERER CC
CC=zeros(2*n+1,101);
CC(;,n+1)=call_100;
forj=1n
tic
YY=zeros(2*n+1,1);
for k=1:2*n-j
eval(['YY',num2str(j),'(k+j,1)=sum(CC((k+j-1:k+2+j-1),(n+1)-j+1).*pr);'])
end
eval([' CC(1+j:(2*n+1)-j,(n+1)-))=YY",num2str(j),'((n+1)-n+j:(n+1)+n-j,1);'])
clc,process=j,toc

end

RITENHEZR
CALL_PRICE=CC(n+1,1);
cle;fprintf( FIA=I8KIE & KR B # B 18 5 %4.41\n", CALL_PRICE)

$r 1R

clear;clc

S=50; %IRERES 50

K=50; WREZFEBLNEES 50

r=0.1; WEFZFRL 10%

vol=0.4; %R ENZR S 40%

T=5/12 %EE R HRHA R R E

n=110; %R NEAEE 110 ER5H

dt=T/n; %dt B—ERZH

inter=0.1; %8 E —E o] AR &R

vol2=0.5; %control variate B # = EARBITEE m

[Call, Put] = blsprice(S, K, 1, T,vol2), %=EARBIEEM

G=Call;

fori=1inf;
tic
MC_ST_posi(1,i)=S; %E—IEE R R YGE
MC_ST_negi(1,)=S; %% __IEEER AN YRE
MC_ST_hat(1,i)=S; %= EARRR ST MR MR B YR E

14
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forj=2:n;
RAN=randn(1,1); Y% EEEHE(E
%HE—IERBERBEE
MC_ST_posi(j,i)=MC_ST_posi(j-1,i)*exp((r-0.5*vol A 2)*dt+vol*RAN*dt~0.5);
%5 IR BEE R
MC_ST_negi(j,i)=MC_ST_negi(j-1,i)*exp((r-0.5*vol A 2)*dt+vol*(-RAN)*dtA0.5);
%= ERBEITEME mIEREK
MC_ST_hat(j,i)=MC_ST_hat(j-1,i)*exp((r-0.5*vol2* 2)*dt+vol2*RAN*dt*0.5);
end
%E—IREERENEIZEEE
MS_CT_posi=MC_ST_posi(end,i)-K; %ExE—HEEEE =S-K
if MS_CT_posi<0 %% S-K<0, RIE#EBEARO
MS_CT_posi=0;
end
WE_IRBERTENEEREE
MS_CT_negi=MC_ST_negi(end,i)-K; %ExE—HIEREEE =S-K
if MS_CT_negi<0 %% S-K<0, AIE#EESR 0
MS_CT_negi=0;
end
% EABTEMEmBEREEEEE
MS_CT_hat=MC_ST_hat(end,i)-K; %ExE—HEEEE=S-K
if MS_CT _hat<0 %% S-K<0, RIE#EERO
MS_CT _hat=0;
end
CALL_simple(i,1)=MS_CT_posi*exp(-r*T); %EARIFEEEIRE
meanCALL_simple=mean(CALL_simple); %ERENFIIRE-EARE
sdCALL_simple=std(CALL_simple); % B HEIRENIREZE-FEARE

CALL_antithetic(i,1)=((MS_CT_posi+MS_CT_negi)/2)*exp(-r*T); %antithetic X&) EFEIRE

meanCALL_antithetic=mean(CALL_antithetic); % B #1918 E-antithetic

sdCALL_antithetic=std(CALL_antithetic); % B IR ENEREZE-antithetic
CALL_hat(i,1)=MS_CT_hat*exp(-r*T); %iEEEREmMIIRE
CALL_control=G+CALL_simple-CALL_hat; %control FAEENEIZEIRE
meanCALL_control=mean(CALL_control); % B ENFIIRE-control
sdCALL_control=std(CALL_control); % E HIRENIE#EZE-control

15
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%EEEEE/NRECERER - o EEE
ifi>1
if inter>2*1.96*sdCALL_control/i~0.5
break
end
end
clc,process=i,toc

end

clc

fprintf(' 485 #%4.0f Z\n',i)

fprintf('\n')

%FTENH control FAZEE I -REERNER
e=meanCALL_control-1.96*sdCALL_control/i*0.5;
f=meanCALL_control+1.96*sdCALL_control/i*0.5;
fprintf('Z it K Z&-control\n")

fprintf('CALL PRICE=%4.4f\n",meanCALL_control)
fprintf('std. error=%4.4f\n',sdCALL_control/i*0.5)
fprintf(95%%EBEE 4 [%4.4f %4.4f1\n' e f)
fprintf('\n')

%] EN antithetic FAEERMRENGER
c=meanCALL_antithetic-1.96*sdCALL_antithetic/i*0.5;
d=meanCALL_antithetic+1.96*sdCALL_antithetic/i*0.5;
fprintf('Z iR Z&-antithetic\n')

fprintf('CALL PRICE=%4.4f\n',meanCALL_antithetic)
fprintf('std. error=%4.4f\n',sdCALL_antithetic/i*0.5)
fprintf(95%%EBEE S [%4.4f %4.4f1\n',c,d)
fprintf('\n')

%I ENHEIMREERBWER
a=meanCALL_simple-1.96*sdCALL_simple/i*0.5;
b=meanCALL_simple+1.96*sdCALL_simple/i*0.5;
fprintf( Z R 28 -EAE\n")

fprintf(CALL PRICE=%4.4f\n",meanCALL_simple)
fprintf('std. error=%4.4f\n',sdCALL_simple/i*0.5)
fprintf(95% % EREE R [%4.4f %4.4f]\n',a,b)

16



- 3284 230k BT RS §AE
2011705720
® EXG LA
%REBER 0.5 B - BEERMER S5 @R - RE[ES S5 T - &AER 100 &/NMVERO

forj=1:19

b(j)=1+0.41A2%jA2*(1/24)+0.1*(1/24); %=tE bj R
end
forj=2:19

aa(j)=0.5*0.1%*(1/24)-0.5*0.412*"2*(1/24);,  %=tE aj B
end
forj=1:18

c(j)=-0.5*0.1*(j)*(1/24)-0.5*0.47 2*(j) N 2*(1/24); %=1E& ¢j RE
end
a=aa(1,2:19);
B=fliplr(b);
A=fliplr(a);
C=fliplr(c); %IE a,b,c £ HEEEIMN
B1l=diag(B,0); %It bj IREIEH AR
Cl=diag(C,-1); %I ) =R FHAEEZE T —I1F
Al=diag(A1); %IE aj ZREHAEKR LK
X=B1+C1l+Al;
j=19;

c(j)=-0.5*0.1%*(1/24)-0.5*0.41 2*jA 2*(1/24);
%ttm=0 FFRYEIZRE(EE Y0=[45-c(19)*50;40;35;30;25;20;15;10;5;0;0;0;0;0;0;0;0;0;0];

final=X\YQ; %#ERT ttm=0.5 RFREZREER
TOTALCALL=zeros(19,11); %S &R & A RV FERE S H 2k
TOTALCALL(;,11)=[45;Y0(2:end,1)]; %3 ttm=0 FREZZERNAIE 1117
TOTALCALL(;,10)=final; %I ttm=0.5 FRFRVEZEEEREISE 10 17
forw=1:9
Y0=final;
Y0(1,1)=Y0(1,1)-c(19)*50;
final=X\YQ; %EELEGEEERER  Ktim B 135 WEERERE
TOTALCALL(;,10-w)=final;  %kFiEELRNEZEEENEIE 91725 117
end
d(1:11)=50; %I BRERAE 100 RRUEERERS
e(1:11)=0; %IRERER/NE O RAEZEEERS
ANS=[d;TOTALCALLe]; e EEENEES t ALES s FEIERER
CALL_PRICE=ANS(11,1); %EERHNERER S0,ZHHHER 5 EANEERER
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